Algebra 2 Lesson 3-4A: Equation of a Line Mr. Chancellor
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Instructions: Transform each equation from standard form (Ax + By = C) te slope-intercept form
(v =mx +b). Show your work and box your answer.
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Instructions: Write an equation of a line in slope-intercept form according to each description below.

1) Passes through (-3, 4) and (1, 1) 2) Passes through (2, 3) and (7, 8)
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Instructions: Draw the graph of each equation in slope-intercept form. Use a STRAIGHTEDGE to
draw the line.
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Instructions: Graph each standard form equation. You may use a T-chart to create two points or
transform the equation into slope-intercept form first. Use a straightedge to draw the line.
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